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wWidin 2 >ection 1.7 — EXPpOnent RUles Fart £
Homework: Section 1.7 on Pg. 40; 1all,2-3 right, 5-6 right, Bleft, 10-11left — Answers on Pg. 364

Write the following in repeated factor form, then as a single exponential. What do you notice?
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When we raise an exponential to another power, we mu H‘Iﬁl’,{ the powers and keep the

bgﬁﬂ the same.

For example, write as a single exponential:

(4%)* = L{ 5-4 (=2)) = (— 2) (o
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Write the following in repeated factor form, then as a single exponential. What do you notice?
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@Power of a Product Rule: Cﬂ?‘(é) = rﬂn X 6 g

When we raise a product (multiplication) to a power, we can take each part of the E EE uct

and raise it to the same _Do WeE™

For example, simplify to a product of exponential(s):
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Write the following in repeated factor form, then as a single exponential. What do you notice?
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When we raise a p#giféat (division) to a power, we can take the /]1U#Z

as well as the

ey \naftv and raise both to the same _@L

For example, simpl'rﬁr to a fraction:
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All of these are WRONG!! Explain why and fix the mistakes!
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